
Binomial Expansion and The Power Rule


Expand the following using Pascal’s Triangle:
1. (x + 5)3
2. (x – 5)4
3. (2x – 5)5
4. (x – 5y)6
5. (3x – 
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)7
6. (
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 – 5)8
Find the following terms, using combinations (nCr) to help find the coefficient of:

7. The x3 term in the expansion of (x + 7)11
8. The x7 term in the expansion of (x + 7)19
9. The x9 term in the expansion of (7x – 11)35
Use the power rule to determine:

10. The derivative of x9 

11. The derivative of 3x7 

12. The derivative of 2x4 + 3x6 + 5x10
13. The slope of the graph 
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14. The slope of the graph 
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15. The slope of the graph 
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16. The slope of the graph 
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